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QUESTION 1

Which three statements are true about TIBCO BusinessEvents Views? (Choose three.) 

A. A view is a collection of dashboard pages. 

B. A dashboard page is a collection of views. 

C. A backing store is required for view data. 

D. View data can be stored in cache servers, and a backing store is optional. 

E. A Dashboard agent may run in the same JVM as Inference agents. 

F. A Dashboard agent must run in a separate JVM. 

Correct Answer: ACE 

 

QUESTION 2

Which TIBCO BusinessEvents add-on software provides a real-time interface to visualize events? 

A. Decision Manager 

B. Data Modeling 

C. Views 

D. Processing 

Correct Answer: A 

 

QUESTION 3

Which two statements are true about TIBCO BusinessEvents Views? (Choose two.) 

A. It is a thin client application that interfaces with TIBCO BusinessEvents. 

B. It is a thick client application that interfaces with TIBCO BusinessEvents 

C. Users can save charts and dashboard data in XML or CSV formats. 

D. Users can save charts and dashboard data in Microsoft Excel or CSV formats. 

Correct Answer: AC 

 

QUESTION 4

What are three features of Query agents? (Choose three.) 
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A. Execute rules only 

B. Execute rule functions only 

C. Provide read-only access to the objects in the cache 

D. Provide read and write access to the objects in the cache 

E. Assert events 

Correct Answer: BC 

 

QUESTION 5

A project requires that once an order event arrives, a corresponding Fulfillment event must follow within 10 minutes of
the order event. If this does not occur, an alert is raised. If the order event arrives on time, a notification is sent. 

Which TIBCO BusinessEvents feature is most efficient for this job? 

A. Pattern matching 

B. Rule processing 

C. Query processing 

D. Cache management 

Correct Answer: A 

 

QUESTION 6

Which three are required to enable database concepts at runtime? (Choose three.) 

A. Check the Enable Database Concepts in the Processing Unit\\'s configuration 

B. Setup JDBC datasource in the BE runtime JNDI directory 

C. Provide the default database concepts JDBC resource in agent class definition 

D. Add the JDBC resource to cluster descriptor\\'s Database URIs 

E. Assign the connection at runtime using Database.setCurrentConnection () 

Correct Answer: ADE 

 

QUESTION 7

Which two communication options are configurable in CDD when TIBCO BusinessEvents DataGrid is used? (Choose
two.) 

A. PGM 
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B. Unicast 

C. Broadcast 

D. JMX 

Correct Answer: AB 

 

QUESTION 8

Which two statements are true about In-memory and Cache object management (OM) types? (Choose Two.) 

A. Cache OM supports Partitioning; In-memory OM does not. 

B. Cache OM supports Clustering; In-memory OM does not. 

C. Both Cache and In-memory OM support Fault Tolerance. 

D. Both Cache and In-memory OM support Data Recovery. 

Correct Answer: AB 

 

QUESTION 9

Which two actions are allowed in a Preprocessor function? (Choose two.) 

A. Consume an event 

B. Modify an event after asserting it 

C. Create a concept 

D. Modify an existing concept 

Correct Answer: AC 

 

 

QUESTION 10

Which two can be configured in the CDD file? (Choose two.) 

A. Hot deployment 

B. Concurrent RTC 

C. JVM heap size 

D. Site failover 

Correct Answer: AB 
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QUESTION 11

Which three state types can be used when creating a State Model? (Choose three.) 

A. Simple 

B. Referenced 

C. Composite 

D. Contained 

E. Concurrent 

Correct Answer: ACE 

 

QUESTION 12

Which two statements are true about Query agents? (Choose two.) 

A. Query agents can have channels and destinations. 

B. Query agents can execute rule functions but not rules. 

C. Query agents can execute rules, not rule functions. 

D. Query agents can have channels, not destinations. 

Correct Answer: AB 

 

QUESTION 13

Which three TIBCO BusinessEvents objects can be stored in cache servers? (Choose three.) 

A. Scorecards 

B. Global Variables 

C. Rule Functions 

D. Concepts 

E. Events 

F. Rules 

Correct Answer: ADE 

 

QUESTION 14
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Which two statements are true about a Fault Tolerant agent in standby mode? (Choose two.) 

A. It maintains a passive RETE network. 

B. It listens to events from channels. 

C. It does not execute startup rule functions. 

D. It updates working memory. 

E. It reads and writes to cache. 

Correct Answer: AC 

 

QUESTION 15

Which three statements are true about State Models? (Choose three.) 

A. A concept can own multiple State Models. 

B. A State Model can contain only one Start state and multiple End states. 

C. A State Model can contain only one Start state and one End state. 

D. A State Model instance in a Concurrent state cannot exit until all regions have finished processing. 

E. A State Model instance in a Composite state cannot exit until all states have finished processing. 

F. A concept as well as a Scorecard can have State Models. 

Correct Answer: ABD 
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